




©2007 PLAYNATION PLAYSYSTEMS INC.

STEP 30:  REST SWING BEAM ON FORT
AN EXTRA PERSON IS NEEDED FOR THIS STEP

1:  SIT THE SWING BEAM LEGS UPRIGHT.

2:  LINE UP THE PRE-DRILLED HOLES, AND REST THE SEING BEAM ON TOP OF THE FORT AND THE SWING BEAM LEGS.  
MAKE SURE THAT YOU HAVE THE BEAM FACING THE RIGHT WAY.

IMPORTANT NOTE:  THE LEGS ARE DESIGNED TO ACCOMODATE SWING BEAMS ON UNEVEN 
GROUND (DOWN SLOPE).  THEY ARE LONGER THAN REQUIRED.  IF YOUR GROUND IS RELATIVELY 
LEVEL, YOU MAY NEED TO EITHER A) SHORTEN THE END OF THE LEGS B) DIG IN BOTH LEGS 
WHERE THEY MEET THE GROUND, OR C) BEND THE LEGS OUT SLIGHTLY TO MATCH YOUR GRADE.



CARRIAGE
BOLT

9"

1/2"
WASHER

STEP 31:  MOUNT SWING BEAM TO FORT
IN THIS STEP YOU WILL BE MOUNTING THE SWING BEAM TO THE FORT.  YOU WILL NEED YOUR 9/16" SOCKET WRENCH 
OR IMPACT WRENCH AND PLIERS.

AN EXTRA PERSON IS NEEDED FOR THIS STEP

1:  RAISE THE FREE END OF THE SWING BEAM TO FIT ON TOP OF THE SWING BEAM PLATE.

2:  LINE UP THE PILOT HOLES AT THE END OF THE SWING BEAM WITH THE MIDDLE HOLES ON THE SWING BEAM PLATE.

3:  FASTEN THE SWING BEAM TO THE SWING BEAM PLATE AND THE SWING BEAM SUPPORT USING A 9" CARRIAGE 
BOLT WITH A 1/2" WASHER AND A 3/8" LOCK NUT WITH A 3/8" WASHER.  USE A BOLT CAP TO COVER EXPOSED 
THREADS.

4:  FASTEN THE SWING BEAM TO THE SWING BEAM PLATE FROM UNDERNEATH WITH A 3-1/2" LAG SCREW AND 3/8" 
WASHER.  

©2007 PLAYNATION PLAYSYSTEMS INC.
BOLT CAP

3/8" WASHER

3/8" WASHER

3/8" NUT

3-1/2" LAG 
SCREW



6-1/2" CARRIAGE BOLT

1/2" WASHER

3/8" WASHER

3/8" LOCK NUT

BOLT CAP

3-1/2" LAG
SCREW

STEP 32:  MOUNT SWING BEAM TO SWING BEAM LEGS
1:  FASTEN THE SWING BEAM TO THE SWING BEAM BRACKET USING 6-1/2" CARRIAGE BOLTS WITH 1/2" WASHERS ON 
TOP OF THE SWING BEAM, AND 3/8" LOCK NUTS WITH 3/8" WASHERS FROM UNDERNEATH.

2:  USE A 3-1/2" LAG SCREW WITH 3/8" WASHER FOR THE HOLE IN THE CENTER OF THE SWING BEAM BRACKET.

3:  PLACE A BOLT CAP OVER ANY EXPOSED THREADS.

©2007 PLAYNATION PLAYSYSTEMS INC.



©2007 PLAYNATION PLAYSYSTEMS INC.

STEP 33:  LEVEL SWING BEAM
1:  PLACE A LEVEL ON TOP OF THE SWING BEAM AND ADJUST THE BEAM LEGS IN OR OUT AS NEEDED TO MAKE THE 
SWING BEAM LEVEL.

IMPORTANT NOTE:  
THE LEGS ARE 
DESIGNED TO 
ACCOMODATE 
SWING BEAMS 
ON UNEVEN 
GROUND (DOWN 
SLOPE).  THEY ARE 
LONGER THAN 
REQUIRED.  IF 
YOUR GROUND IS 
RELATIVELY LEVEL, 
YOU MAY NEED 
TO EITHER A) 
SHORTEN THE END 
OF THE LEGS; B) 
DIG IN BOTH LEGS 
WHERE THEY MEET 
THE GROUND, OR 
C) BEND THE LEGS 
OUT SLIGHTLY TO 
MATCH YOUR 
GRADE



©2007 PLAYNATION PLAYSYSTEMS INC.

2 X 4 X 58"
CROSS-MEMBER

3/8" WASHER

3-1/2" LAG
SCREW

STEP 34:  SWING LEG CROSS-MEMBER
1:  POSITION THE 2 X 4 X 58" SWING LEG CROSS-MEMBER AGAINST THE SWING BEAM LEGS.

2:  LEVEL CROSS-MEMBER AND MARK THE LOCATION OF THE SECURING HOLES INSIDE THE CROSS-MEMBER HOLES.

3:  USE 3-1/2" LAG BOLTS WITH 3/8" WASHERS TO SECURE THE CROSS-MEMBER TO THE SWING BEAM LEGS.



STEP 35:  HANGING THE SWINGS
1:  START BY ATTACHING ONE SPRING CLIP TO EACH IRON DUCTILE ON THE SWING BEAM.

2:  ATTACH ONE CHAIN PER ACCESSORY TO EACH SPRING CLIP.

3:  ADJUST HEIGHT AS NEEDED

©2007 PLAYNATION PLAYSYSTEMS INC.

SPRING CLIP

SWING CHAIN



STEP 36:  MOUNTING THE SLIDE
1:  POSITION THE SLIDE SO THAT IT RESTS FLUSH ON THE DECK BOARDS IN THE FRONT OPENING.

2:  FASTEN TO THE FORT WITH 1-1/4" WOOD SCREWS

©2007 PLAYNATION PLAYSYSTEMS INC.



WARRANTY REGISTRATION CARD - TIKI TREEHOUSE 
 

Name:   ________________________________________________________ 

Address:   ________________________________________________________ 

City, State, Zip:  ________________________________________________________ 

Email:   ________________________________________________________ 

Date of Purchase:  ________________________________________________________ 

Place of Purchase: ________________________________________________________ 

City, State, Zip:  ________________________________________________________ 

Name of Playset:  ________________________________________________ 

 
Please, check the boxes below. 
 

Your age? 

18-25     26-30     31-35     36-40     41-45     46-50     51-55     56-60     

61-65     66+ 
 

How old are your children? 

2-3     4-5     6-7     8+       
 

How would you rate the quality of our product? 

Excellent      Above average     Average     Below average     Poor   
 

Would you recommend this product? 

Yes     No      
 

Comments: 
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________
 

Thank you for registering with PlayNation! The information you provided will be kept 

confidential and will ONLY be used to better serve our customers. Remove this page from 
the manual and mail to the address below. 
 

Thank you from everyone here at PlayNation!   

 
Mail to:       or fax: 
PlayNation                 (678) 880-3300 
190 Etowah Industrial Court 
Canton, GA 30114 


